
The experts in riveting technologies350

5-30

5-1
5-4

5-21

5-23
5-22 5-6

5-20

5-2
  5-5

5-28

5-27

5-33

5-26

5-25 5-29   5-31

130
140
150
160

103

108

131
141
151
161

114

112

101

113

102	          116

120

109

115

162	       107

 

Blind rivet hand nut setting tools

GBM 5
Spare part no. Article no. Designation

5-1 145 7165 Tool housing
5-2 145 7166 Tool shanks
5-4 145 6603 Sleeve grip for tool housing no. 5-1
5-5 145 6604 Sleeve grip for tool housing no. 5-2
5-6 145 7167 Bolt
5-20 145 7168 Snap ring
5-21 145 6608 Supporting chain
5-22 145 6609 Spring dowel sleeve

5-23 • 145 6610 Self opening spring
5-25 145 7169 Lock activator
5-26 145 7170 Adjustment ring
5-27 145 7171 Knurled nut
5-28 145 7172 Locking nut

5-29 • 145 7173 Nosepiece M 4
5-30 • 145 7174 Nosepiece M 5
5-31 • 145 7175 Nosepiece M 6
5-32 • 145 7176 Threaded mandrel M 4
5-33 • 145 7177 Threaded mandrel M 5
5-34 • 145 7178 Threaded mandrel M 6

17 143 4079 Maintenance wrench SW 10

• Wearing parts

GBM 10
Spare part no. Article no. Designation

101 145 7092 Tool housing with sleeve grip no. 115
102 145 6627 Tool shanks with sleeve grip no. 116
103 143 4772 Lock activator
107 145 7094 Stop screw with scale label
108 143 4773 Locking nut
109 143 4074 Lever
112 143 4076 Bolt
113 143 4075 Bolt
114 144 5259 Snap ring
115 150 9066 Sleeve grip for tool housing no. 101
116 150 9068 Sleeve grip for tool housing no. 102
120• 144 5261 Self opening spring
130• 145 7096 Threaded mandrel M 3
140• 143 4776 Threaded mandrel M 4
150• 143 4779 Threaded mandrel M 5
160• 143 4781 Threaded mandrel M 6
131 145 7095 Nosepiece M 3

141 • 143 4777 Nosepiece M 4 and 8-32”
151 • 143 4780 Nosepiece M 5 and 10-32”
161 • 143 4782 Nosepiece M 6 and 1/4 -20”
162 144 5739 Coil spring

A 140 143 4784 Threaded mandrel 8-32”
A 150 143 4783 Threaded mandrel 10-32”
A 160 143 4785 Threaded mandrel 1/4 -20”


